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51.

52.

53.

Which one is not an objective of the

International Monetary Fund ?

(A) To promote international monetary
co-operation

(B) To ensure balanced international

trade

(C) To finance productive efforts
according to peace-time

requirements

(D) To ensure exchange rate stability

United Nations Conference on Trade and

Development (UNCTAD) was set up

in :
(A) 1944 | (B) 1954
(C) 1960 (D) 1964

Balance of Payments (BOP) comprises of

which of the following components ?
(A) Curent account and éapital account
(B) Trade balance and budget deficit
(C) Monetary policy and fiscal policy
(D) Import tariffs and export subsidies

P.T.O.
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56.

57.

Which agreement within the WTO
framework deals with the protection of
Intellectual Property Rights ?

(A) GATS (B) TRIMS

(C) TRIPS (D) SPS

Which economic institution provides
financial assistance to member countries
for development projects and poverty

reduction programmes ?
(A) International Monetary Fund (IMF)
(B) World Bank

(C) United Nations Conference on
Trade and Development (UNCTAD)

(D) World Trade Organisation (WTO)

Which of the following institutions is #ot
a part of the World Bank Group ?
(A)

International Development

Association (IDA)

International Monetary Fund (IMF)
International Finance Corporation
(IFC) '
Multilateral Investment Guarantee
Agency (MIGA)

®)
©

D)

Which of the following countries is not
a member of SAARC ?

(A) India (B) Nepal
(C) Sri Lanka (D) China
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58. The Consumer Protection Act, 1986 was

59,

60.

réplaced by which Act in India ?

(A) Consumer Protectio; Act,. 2019
(B) Consumer Protection Act, 2015
(C) Consumer Protection Act, 2020 .
(D) Consumer Protection Act, 2021

Which of the following systems is nof a

type of economic system ?
(A) Capitalism
(B) Socialism

(C) Federalism

(D) Mixed Economy

‘NAFTA’ came into force from January,
1994, which includes the following

countries :

© (A) USA, Canada, Cuba, Trinidad and

Tobago
(B) USA, Canada, Mexico
(C) Cuba, Mexico, USA, Havana

(D) Trinidad, USA, Mexico
P.T.O.
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6l.

62.

Match the following List I with
List II :
List I List II
(a) Accounting (1) Accounting for
Standard-1 c.oristruction
contracts
(b) Accounting (ii) Intangible
Standard-7 Assets
(¢) Accounting  (iii) Disclosure of
Standard-19 accounting
policies
(d) Accounting (iv) Leases
Standard-26

Choose the correct option from given
below :

@ ® © (d)
(A ) @) (iv) (iii)
B ® @ (iii)
© @) @ (iv) (iD)
(D) () @) (i) (iv)

A, B and C were partners sharing profits
in the ratio of 5 : 4 : 3. C retired and his
share was taken up by A and B in the
ratio of 3 : 2. Find out the new ratio :

(A) 5:4 (B) 17:13

(C) 20:13 (D) 17: 12
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63.

64.

65.

If the cost-volume-profit relationship of
a company is described by the equation
y=2,40,000+0.7x in which x
represents sales revenue and y the total
cost, then profit-volume ratio will be :

(A) 30% (B) 70%

(C) 40% (D) 60%

Which of the following is not correct in
context to material yield variance ?

(A) (AY - SY) x SC

(B) (AY — SY) x SC per unit

(C) (AY — SY) x SY

(D) (AY — RY) x SC

In ABC system a firm can choose
from three types of cost drivers, they

are :
(A) Transaction, Intensity and Flexibility

(B) Transaction, Duration and Intensity
|

|
(C) Duration, Intensity and Flexibility
(D) Duration, Intensity and Intangibility
P.T.O.
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66

67.

Which of the following statements is
tf:rmed as ‘Where Got Where Gone
Statement’ ? |

(A) Balance Shegt

(B) Fund Flow Statement

(C) Cash Flow Statement

(D) Profit and Loss Account

Statement I : Just-in-time refers to
acquiring mater.ials and n-1am1facturing
goods only as needed to fili customer
order.

Statement II : Just-in-time is a supply
push manufacturing system,

Statement III : Just-in-time is also
called le;an production.

Choose the correct group of statements
from the options given below :

(A) Statements I and II

(B) Statements I and III

(C) Statements I and I

(D) Statements I, II and m
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69.

70.

Payment of dividend out of capital was
raised in :
(A) Fisher vs. Black-White Publishing

Co. case

(B) Lubbuck vs. The British Bank of

South America case -
Mckesson and Robbins case

©)

(D) London and General Bank case

An auditor in a casual vacancy is
appointed -by the

(A) Shareholders

(B) Central Government

(C) Company Law Board

(D) Board of Directors |

Companies (Auditor’s Report) Order,

2003 came into effect from :
(A) 1.7.2003

B) 1.4.2003

(C) 1.10.2003

(D) 1.1.2004
P.T.O.
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71.

72.

73.

What is the necessary condition for
maximizing total profit in a business

firm ?

(A) Marginal Income = Marginal Cost
(B) Marginal Income > Marginal Cost
(C) Marginal Income < Marginal Cost

(D) Marginal Cost = Average Income

In which of the following, the law of

demand does not apply ?
(A) On Giffen good's

(B) On prestigious goods
(©) On lifesaving goods

(D) All of the above

If there is a huge change in demand of
a commodity despite there being little or
no change in its price, then what is the

demand for such a commodity called ?
(A) Highly elastic demand

(B) Perfectly elastic demand

(C) Tnelastic demand

(D) Elastic demand
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75.

" 176.

Which of the i‘_ollowing is not a

characteristic of indifference curve ?

(A) The two indifference curves cross

each other.

(B) Indifference curve is convex to the
origin.
(C) The indifference curve slopes

downwards from left to right.

(D) The upper indifference curve gives
more satisfaction than the lower

indifference curve.

What happens in the second stage of the

law of variable proportions with

reference to the laws of production ?

(A) Marginal production increases.

(B) Marginal production remains
constant.

{(C) Marginal
negative.

production  becomes

(D) Marginal production decreases.

In the context of the law of production,
which period is related to ‘Return to
Scale’ ?

(A) Very short period
(B) Long period

(C) Short period

(D) None of the above
P.T.O.
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71.

78.

7.

- 80.

The long-run -average cost curve is also
known by which of the following

names 7

(Aj Isoproduct curve

(Bj Indifference curve
(Cj .Production curve

D) Envélope curve

What can be achieved in the equilibrium
state of a firm in the short-run under
perfect competition ?

(A) Supernormal profit

(B) Nommal profit

(C) Minimum loss

(D) All of the above -

What is the essential condition for price
discrimination ?

(A) Monopoly

(B) -Separate markets

(C) Variation in elasticity of demand
across markets

(D) All of the above

When the entrepreneur himself performs
the work of the manager and does not
take the manager’s salary, what type of
cost it is called ?

(A) Implicit cost (B) Explicit cost

(C) Normal cost (D) Abnormal cost
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81.

82.

83.

84.

Which one of the following is a short-
term finance decision ?

(A) Investment decisions

'(B) Financing decisions

(C) Working
decisions
(D) Dividend decisions

capital ~management

In which type of lease does the lessee
generally has the option to purchase the
asset at the end of the lease-term ? -

(A) Operating lease
(B) Financial lease '
(C) Rental lease

(D) Service lease

Which of the following is nof a part of
a firm’s cost of capital ?

(A) Cost of debt

(B) Cost of retained earnings

(C) Cost of equity /

(D) Cost of inventory:

Which of the following is a drawback of
maintaining a high level of debt in a
company’s capital structure ?

(A) More control for existihg shareholders
(B) Lower cost of capital

(C) Increase in financial risk due to
fixed interest liability

(D) Increase in shareholders’wealth

P.T.O.
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(A) Net Present Value (NPV) method
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(B) W Y RN A YA BT A (A) Rating Agency
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(€) fa9w waeE aed (TEdiEl) (C) Special Purpose Vehicle (SPV)
(D) TR (SHeTH) (D) Obligors
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88.

89.

- 90,

How many nations signed the Articles of

Agreement of the International Monetary

Fund at the Bretton Woods Conference ?

(B) 44
(D) 60

(A) 30

(cj 50

ADRs can be listed on which of the

following stock exchanges ?
(A) Only London Stock Exchange
(B) Only Luxembourg Stock Exchange

(C) New York Stock Exchange (NYSE),
NASDAQ and NYSE MKT.

(D) Only Tokyo Stock Exchange

Speculators in foreign exchange market,
who sell a particular currency now,
expecting it to become cheaper in future
and buy it back, when its value becomes

lesser. Thus earn gain, are known as :
(A) Bears

(B) Bull

(C) Arbitrageurs

(D) Foreign exchange brokers

P.T.O.
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(D) =g <WHF (Dy)

93, of ww It W wa@ fa=wwr 625 W,
@ e fageE @ o

(A) 30 ®) 25

€ 20 ®) 15
94, fowman, woweTE @R, W9 :

(A) ¥reA < 9g

(B) wieq > Sgh

(C) W= > e

(D) wieq = Hiita=H

95, fim wm #
= TW M) = 16
e faww (PE) = 0.085
0.6745 = 2/3

IF B TUR W wwEeY UE ()
W e

@A) 04 ®) 0.5
© 06 D) 0.7

(5)S/3/2024/A
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91.

92.

93.

9%4.

9s.

What will the probability of getting all
the ‘tails’ in five (5) throws of a coin ?
(A) 1/4 ®B) 1/8

© 1716 (D) 1/32

Second Quartile (Q,) is equal to :
(A) Mean (X)

(B) Median (M)

(C) Mode (Z)

(D) 4th Decile (D,)

If the total variance of a series is 625,

then the Standard Deviation (SD) will
be :

(A) 30 B) 25

© 20 D) 15
Skewness will be negative, when :
(A) Mean < Mode

(B) Mean > Mode

(C) Mean > Median

(D) Mean = Median |

Given :

No. of Pairs (N) = 16
Probable Error (PE) = 0.085
0.6745 = 2/3

On the basis of the above coefficient of

correlation () will be :

(A) 0.4 B) 0.5

- (C) 0.6 D) 07



96. WM TR HH % fAU wewn wIH B
e ?
(A) T H G
‘(B) WHEN H® AW HE
(C) %= i TARFI

(D) 1 H YEEET

97Lﬁﬂafﬁ%mu’faﬁmﬁ"m 97.

1 SE @ L
(A) A-wleor |
@) W fover ()

(C) wR-3 wEw (x2)

@ Se-Tdm

98. af I = Www (+) 2 ¥ 3 wgAFE | 98,

| (ﬁqa). 500 TR 2, o s

T (F99) B :
“(A) 498 T (B) 502 9
(C) 490 TT (D) 510 T

{6)S/3/2024/A 15

 96.

Whichl will be the first étep of staring

research ?

(A) Selecting a problem
(B) Finding a problem
(C) Searching a probleni

(D) Identifying a problem

In case of more than two populations, to
test a “Null Hypothesis’, a researcher

uses the :

(A) T-test

(B) Analysis of Variance (ANOVA)
(C) Chi-square test (%)

(D) Z-test

If percentage of error is (+) 2 and

estimated value is Rs. 500, then actual

value will be : :

(A) Rs. 498 (B) Rs. 502 |

(C) Rs. 490 (D) Rs. 510 \
P.T.O.



99.

100.

101.

102,

i
15 faenfefl & Wt w=owe 15 ¥
iy < foaf & waw ‘18" @R 12!

w a9, @ 9y w2 gy e
T Ul BT ATET BRW :

(A) 13 (B) 14

© 15 (D) 16

T frods & fawmm qoie % ofteed
o feafafen § ¥ feger swEm T
oo ST ® ?

(A) ==

(B) wfeaam

(C) wgTH
(D) weq fa=e

2RY ‘T 9w 2’9 'S g ® JER
&)

(A) vifw

B) frea=a

(C) =afmE

(D) swific o

360° froen qeiwa fees g fwan
I ® ?

(A) TREH

(B) WewHl e Snefiey

(C) TEH

(D) ST= il

{5)5/3/2024/A
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99.

100.

101,

102.

The mean of 15 students is 15 marks. If
marks of two students as ‘18’ and ‘12"
are excluded, then the mean marks of

remaining students will be :
(A) 13 B) 14
€ 15 D) 16
Which of the following is not considered

of Karl

co-efficient of skewness ?

in calculation Pearson’s

(A) Mean

(B) Median

(C) Mode

(D) Mean Deviation

Both type A and type B are types of :
(A) Power

(B) Appraisal

(C) Personality

(D) Non-monetary benefits

360° performance appraisal is done by :
(A) Supervisor

(B) Colleagues and subordinates

(C) Customer

(D) All of the above
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104,

105.

106.

(5)5/3/2024/A

"

I J

memﬁm%:
(A) WTeTers fagdma

(B) wuEH SwEn faveiww

(€) WioT sy e

(D) IR wt
iR w1 fagi@ X0 ol fagia
Y gR] Wiqofed fEm m T
(4) et
(©) FwI

(B) TEETH
(D) ewse

FHANE g WRIGW W @ F
g

(A) ST H gfg

(B) " & owemd W wHT -

(C) wiagw ¥

(D) 3w Wit

.................... -% Wy W ‘e gR wd
FEE FH S wAl’ ® 9 H qfifia
fa @ 1

(A) F TR wioe

(B) WeRE TN

(C) fefe Freem

(D) FSEH A

17

103,

104.

- (C) McGregor

105.

106.

Training needs assessment includes :
(A) Organisational analysis

(B) Resource utilization analysis
(C) Organisational climate analysis

(D) All of the above

Theory ‘X’ and Theory *Y’ of motivation

has been propounded by :
(A) Herzberg (B) Alderfer

(D) Ouchi

Advantages of training received by

employees are :

(A) Increased productivity
(B) Reduced wastage of materials
(C) Reduced supervision

(D) All of the above

.............. has def;ned management as ‘Art
of getting things done through people’.
(A) Mary Parker Follett

(B) Frederick .Taylor

(C) Philip Kotler

(D) Abraham Maélow

P.T.O.
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107.

108.

Wﬂﬁﬁmﬂ .............. ﬁ mﬁ.ﬂ—(ﬂ
g

(A) SRTEIE e
(B) si=iit® W
(C) &F@ TVl
(D) == Afsear

me ................ g'i:ﬁ aﬂ'—‘gq]

(A) W

109.

110.

(C) iR afuw T e =4
D) TRt fes e AfER w5

R, CTEERIETE THT G 3

YHR T |

(A) TETHR
(B) wH faaiww
(C) IR

(D) S RA

frafafes & @ st fafa froa

TeaE w5 TeRE iy Wl § 2
(A) avam wa fafy

(B) EIfg AR &

(C) =ERes Hafem i @@
(D) Foigs we fafu

(5)S/3/2024/A
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107.

108.

109.

110.

Organisation chart is used in :
(A) Informal organisation
(B) Formal organisation

(C) Cost computation

(D) Selection process

Authority and responsibility should be :

(A) Equal

(B) Unequal

(C) More authority and less responsibility

(D) More responsibility and less
authority

Structured, behavioural and stress are

types of :

(A) Interview

(B) Job analysis
(C) Motivation
(D) Salary payment

Which of the following is not a

traditional method of performance

appraisal ?

(A) Ranking method

(B) Graphic rating scale

(C) Behaviourally anchored
scales

(D) Critical incident method

rating
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114.
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]

£

- TR geAds-d gad ¥
(A) @i wfogfral @ SR

(B) Hrg SR

(C) HUT 9NIR

(D) IR 9K

frfafer & @ s & win 3=
%t frams d@en € 2

(A) T

(B) #s WHR

(C) T &R

D) wHiw 4%

fod 4% ofm tfewr ® omatew.
sifafam, 1934 = 4 22 = T ;& |
sfeFR & 2

(A) & I® 5 o S &

®) i == gd # dw A Wi
(C) feht 71 fafmm =i fraftm =
(D)aqm.ﬂﬁaﬁﬁﬁqﬁam
frafafean # @ s wide =0 Fied
F T-WR G H OTEF T 2
(A) @ELeR = E "9

B) "ELaR wrEt "=

(C) @R sfuFr ww agE

(D) Hftem T
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111.

112.

113.

114.

Gilt-edged market deals primarily in :
(A) Market of Government Securities
(B) Metal Market

(C) Debentures Market

(D) Weapon Market

Which one of the following is the
regulatory authority of Regional Rual
Banks 7

(A) NABARD

(B) Central Government
(C) State Government
(D) Sponsor Bank

What authority does the RBI have under
Section 22 of the Reserve Bank of India
Act, 1934 ?

A)
(B)

To issue one rupee coins

To issue bank notes without stamp
duty
To
exchange

control foreign

©

currency

To regulate interest rates

)

Which one of the following is not the
three-tier structure component of
‘Corporate Debt Restructuring’ (CDR) ?

(A) CDR Management Forum
(B) CDR Standing Forum
(C) CDR Empowered Group

(D) CDR Cell
P.T.O.
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115, frfafeg & ® S8 g5 9K % | 115. Which of the following are the -

I 2 instruments of money market ?
@) S WE-E (i) Certificate of deposit

(i) wERET FIR (ii) Commercial paper

(i) SiEifEr whisf wwR (iii) Industrial securities market
(iv) 38 TER (iv) Bond market

v) 0 f@ TR " (v) Treasury bill market

(A) @, (D, @v), (v) ' (A) (@, (D), (v), (V)

@ @, (i), (v) ®) @, (D, (v)

(© @, Gi), (i), (iv), (V) © (@), (i), i), (v), (v)

D) @, @), (i), (iv) (D) (), (i), (i), (v)

116. Fr=fafas o ¥ F 9RG F waq 5@ | 116. Which one of the following is the first

faq deenr ® 2 development financial institute of India ?
(A) SRS (A) IDBI

(B) T UH.HL.TE, (B) IFCI

(C) S TE R, (C) ICICI

(b) T | (D) NABARD

{5)S/3/2024/A .20
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117. Frafafer § @ wFar wu =g B

118.

(5)8/3/2024/A

F o o e ® WM ¥ wew W ¥ 2
(A) =9 UM TH B B g
W e @1 wfafifue s 2, <
FORA @ % fag Swm fEe
W € R W g whE § sern
ST ® |

e T M wrE §, st FRve

WY REE Be F B VYRR
i & HE g ¢ |

g € ¥ weEfga wel & =@

(B)

©

UM IR W HH e B @R |

fifera w9 ¥ weftm wef = aifies
aqa T |

(D) =44 Ud @e ¥ f & |
frafafes § ¥ wFE SN T 9
¥ We-a e Aern & wEiaa @
faq fomRr & 7

(A) fm ™
(B)wr«ﬂqﬁaa‘ﬁm

(C) weisfs & & %

(D) &H, oY IR Hegw ITH HAE

21

117. Which of the following statements

118.

regarding the expense ratio of mutual

fund is not true ?

(A) The expense ratio represents the
proporﬁon of a fund’s asset used for
operating cost and is deducted from
the net assets.

(B) A load is an upfront cost paid by

investors directly to the mutual fund

at the time of purchasing fund

shares/units.

(C) Theexpense ratio for actively managed
funds is typically lower and higher for

passively managed funds.

(D) Expense ratio is different from load.

Which of the following entities is
primarily responsible for implementing

the stand-up India scheme ?

(A) Ministry of Finance |

(B) Reserve' Bank of India

(C) Public Sector Banks

(D) Ministry of Micro, Small and

Medium Enterprises

P.T.O.
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120.
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g

a6 2022 F A Rod ¥F g WA

fpr T B9 d% fefvem W@ wrwE

# M § Feafifen d @ SRR Fe

T B 2

() fefiea Tit-did (e3-W) TEHEE F
s@va froem Sifem @ e
-3 AR W HH WM ©

(i) fefem wd-feet (eT-R) TH@E
feema 1, 2022 W UEH AR

HURE & T 9% IETed 9 |

% fau «f= fear T oo |

(i) e3-W &1 &I @ed Hael IMaled
IF WMl W IR | WA
T ' _

(iv) 3-W TEee fa¥iv ®Y ¥ WA
whyfEl ¥ oR-[ ® freEm @
fom @i for T oo |

A) DA (), (i), (i)

(B) ®ad (if), (iii), (iv)

(C) &A@ (iii)

D) FA (iv)

TEARATHE # e frw o g

off ?

(A) 1999 (B) 1935

(C) 1956 D) 1949

22

119. Which of the following statements about

the Central Bank Digital Currency

(CBDC) pilot launched by RBI in the

year 2022, is/are incorrect ?

(i) The Digital Rupee-Wholesale
(eZ-W) pilot is intended to reduce
transaction costs associated with
settlement risk.

(i) The Digital Rupee-Retail (eZ-R)
pilot was launched on December 1, -
2022 for a closed user group of
customers and merchants.

(iii) The primary goal of eI-W is .to
make the intra-bank system more
efficient only.

(iv) The e%-W pilot was launched
specifically of transactions in

government securities.

(A) (@, i), (iii) only

B) (i), iii), (iv) only

(C) (iif) only

(D) (iv) only
120. In which year was the IRDAI
established ?
(A) 1999 (B) !1935
(©) 1956 (D) 1949
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122,
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(B) Vad et

‘(D)Wﬁaﬂ'ﬁ@ﬁ‘lﬁi

fr am e en sRen ¥ wiefen
T ¥, ©R A ew oomm A=y &
(A)f%t%maﬁzat

(B) v wwd
(C)ai‘.aq‘fwngha‘rﬁw'

(D) e wa R

fawom faso & 4 Ps (SR, T, WA
W YER) fRe+ g wftwifa few o
g2

(A) T T WA
@-ﬁvﬂﬁqﬂwﬁ

D) =X FTW

TEE % IOR/ENR fawr fis ®
IER, AR defcqs WrifEl § wiinfa
= §

(A) IR W99 YUFIfG

(B) 9FIR HIGIHO WHIR

(©) “=R fasm Twrifd

WA RO TR RS AR
m"ﬁﬁﬁhﬁ q.ﬁ'----t .............. a-‘ﬁ .&' 'Fq)-ql'
2 B

(A) 4
©) 6

®) 5
(D) 7

X

121,

" 122,

123.

124,

Who observed, “In the factory, we make
cosmetics, in the store we sell hope ?”

(A) Philip Kotler

(B) Charley Revsoﬁ

(C) Dr. Oscur Troplowitz
(D) David H.‘ McConnell

Who has propounded the 4 P’s of
(product, price, place and promotion) of
marketing mix ? '

(A) Neil H. Borden

{B) Robert Lauterborn
(C) E. Jerome McCarthy
(D) Peter Drucker

As Ansoff’s  Product/Market
Expansion Grid, the four alternative

per

straiegies do not include :

(A) Market penetration strategy
(B) Market simplification strategy
(C) Market development strategy
(D) Product developﬁlent strategy

The National Council for Applied
Research (NCAER) has

classified the Indian consumers by

Economic

income iN.......ceeeereenns categories.
(A)-4 B) §
(& D) 7

P.T.O.
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128.
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a1 e "9 & T fudeEe Hiea’
.............. 2R faefad fem T R

(A) S T

(B) IR siiframea

(C) T wgwH

(D) = ¥

B LR CEi o e A
frqerdt ek et Bt €, W

(A) SUR IIfuw oI w2
(B) SR FH oI W ©

(C) IUvIF AR SRARIE §

O) R ¥ ¥ w7

TR AT GG e 2 & § W
A SR

(A) TE fawuR st

(B) TN faUvE sfem

(C) il faqum e

©) sEw 9 | % T

ved SR H wer wam, b o
S— o s e §
&) F s

(B) I SUR B TWH

(©) SO gfa

(D) s9dF o ¥ w7

(5)8/3/2024/A
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125.

126.

127.

128.

The ‘SERVQUAL model’ for measuring
service quality is developed by :

- (A) Jane Carlson

(B) R. Srinivasan
(C) A. Parasuraman

(D) Black Berry

Personal selling is rationaly more

economical and effective when :

(A) Product is of a high unit value
(B) Product is.a less unit value

(C) Consumer behaviour is impulsive

(D) None of the above -

Zero level channel is also known
T .

(A) Direct marketing channel

(B) Backward marketing channel

(C) Industrial marketing channel

(D) None of the above

In the declining market the company may
adopt strategy of harvesting, divesting
and......ee. .

(A) Increasing sales
(B) Eliminating a good product
(C) Increasing production

(D) None of the above
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129. SR # yREET W W@l ®1 Swid | 129. The five forces of competition in the

------------- % g g T | market are originated by :
(A) W J0E (A) Alex Chernev

(B) HH T (B) Peter Drucker

(C) 9EFE W& (C) Michael Porter

(D) T . W (D) Robert M. Grant

130, U gferal St 7 Ts® ®9 d ST SR | 130, Seven tactics known' as 7 Ts do not

€, 9 frfafes ¥ 9 wFa w& whufm | include of the following :
e
(A) Product
(A) UK
®) & (B) Service
(C) waed (C) Communication
(D) FATHYIA ‘ (D) Research

’

131, Y- w1 S0 A giogfd wt o0fn | 131, Which is a leading case of English law,

| T wH & e, few uefEe ®@ where the Court laid  the rule for

, determining the amount of compensation
wi feR Aewgf @ 2

arising from breach of contract ?
(A) A W AR
' (A) Mozez vs. Macferlan

: ®) T EFIITI“ = (B) Hyde vs. Ranch

|
(C) ¥@ T W wd | A (C) Harvey vs. Facey - :
(D) T T SRR (D) Hadley vs. Baxendale

(5)8/3/2024/A' 25 P.T.O.
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J:
132. it wimar & Iger, frafafeas § @ | 132, According to the contract of pledge,
T AwR, Rt @ 8 9 W which of the following is not the right of

T 2 2 the Pawnee ?
(A) ®% & YRR 35 79w IF @ (A) Right to retain the goods pledged
w] AER | upon non-payment of debt.

(B) Right to get extraordinary expenses
B) I # W & fau feg T

. .incurred for the preservation of
IERY =F IR ARER |

' goods pledged.
(©) fret W 9/t B I | <EwE

¥ 9% Wgd & SR |

(C) Right to file a suit in the court of

law upon default by pawnor.

‘ D) Frelt v w1 fat @t sh (D) Right to sell the good pawned

g fw fan fret @ g W without giving reasonable notice of
H A F AR | . sale to the pawnor.

133, v faem aifufrem, 1881 + o1 ER, | 133, According to Negotiable Instruments Act,

frefafes & 4 oo o 4 w=m 1881, which of the following instruments
R o W R § 2 does not require a stamp ?

A) o= o ' ‘ (A) Cheque

B) wom-w1 § (B) Promissory note

(© fafmm-m & - (C) Bill of exchange

(D) I94F w+ft - (D) All of the above

(5)5/3/2024/A _ 26
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¥ SN Y9 (WER ® W Sfad ST
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B) v wAl =R ¥ R sl

i TS wERR afufEs, 2008 @

(D) T W

)

£

4 afufem, 2013 @ STHER, T

W WA wE I AR Ay T

A SR ?

(A) V@ O R # PR wfE
33 @ B, afe i ¥ mE
BN WM FHM B ART W

- 3 W W R ufrs F e gw
AT AR B FE SN T B
(C) @ &7l & S99 waiE &
a0 TgHA SWEA STEER W ®

B | '
(D) 59 A S WH B FEWERT @
W@ Ow |

TEyEl & oHER TRl wifm fie
WERA & Yo & fau frafafed o

AETH ¥ ?
(A)tfvﬁmm‘

(B) vl T ST w1 U
(C) Wfm e TRRK i

27

134. According

135,

to Companies Act, 2013,

when is the dissolution of a company not

considered to be fair and just ?

(A) When the company is continuo'usly}
incurring losses in its business, but
it is expected to make profits in

future.

(B) When the company is continuously

incurring losses in its business and

there is no hope of earning profits.

(C) When the majority of shareholders
of the company are exploiting the

minority shareholders.

(D) When the company’s funds are

being misused.

According to the provisiods of the
Limited Liability Partnership Act, 2008,
which of the following documents is
necessarily to be filed with the Registrar
for registration of LLP ?
(A) Registration documents
(B) Documents of terms and conditions
(C) Limited Liability Partnership
(LLP) Agreement

(D) Incorporation document -

P.T.O.
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(5)5/3/2024/A

4
na-faseg afafam, 1930 =t 4@ 47

F oUR fa@ar "RfyeR & SIfywR
H VAN FHA B GHM ¢ 7

(A) v W #1 fapa SUR & aR o
fFrdt oy ¥ fe wn @

(B) T € ¥ EEE AR ;M
(C) v s feamfaar & smr @
(D) v famar fRarfermn @t wmar @

wfeeast aifufem, 2002 = & 'Y F

g2

(A) TEE TR ¥ gfeemel @t I

(B) WG < W wiqeayt &7 Wadd
FE MR I/ T @

(C) S WK W wfaerdt @b sgE
e

(D) WRdy s W faseh W@ wd
el W YR T

g w afyeR fufm, 2005 @

WaEH @ ofrla, T8 I gE AR |

T omgwl w frafm Frefaten o
¥ frme 30 W W & ?

(A) v

(B) Tgafa

(CO) wwTs T

(D)_W%WW

28

136.

137.

138.

Under Section 47 of the Sale of Goods

Act, 1930, the seller can exercise lien :

(A) when the goods are sold on a

stipulation as to credit
(B) only upon the order of court
©
8)

when the buyer becomes insolvent

when the seller becomes insolvent

What is the main objective of the
Competition Act, 2002 ?

(A) To prevent competition in Indian
‘markets

(B) To promote and sustain competition
in Indian markets

©

To promote competition in interna-

tional markets

To restrict foreign goods and

D)

services from entering Indian markets

Under the provisions of the Right to
Information Act, 2005, The Chief
Information

Commissioner and

Information Commissioners are

appointed by :

(A) The Prime Minister

(B) The President

(C) The Speaker of Lok Sabha
(D) The Supreme Court of India
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Y afufEwm, 1970 &1 9/ 102 @

srmla, W feq H 9 w1 o @N

FEHA T ?

(A) T WFR

B) W= fFIF

(C) 351 T&ER

(D) i =W

‘T 3, TH W, TH SR’ HI RO

F WY WRG A HE R FE W

(Shugd) fpa fufyr @ @ & @

fear w2

(A) 1 30, 2016 9

(B) 1 2w, 2017 ¥

(C) 30 sH, 2017 ©

(D) 1 ., 2017 §

frafafes % @ =1 9a @ oW #

e o ® 2

(A) 9 & Wl vidw oA # |
B o

(B) ™ & U= s ® SE w
Qe + B @ Ofd qer IR oW

. dq IR % RS

(C) 3 & UE EHwl W oA &
T + el & qfd qan % e
qA SR R OGHENA + HY w
foern ‘

(D) 9@ & U= yHHl W AF w
A+ wfEl w= g qen 39 em
W WM % GHENHE + 9™ #
e — wipa HkEl |

b

f:
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139,

140.

Under Section 102 of the Patents Act,
1970, who can acquire patents in public

purpose ?

(A) State Government
(B) Patent Controller
(C) Central Government
(D) Appellate Board

On and from which date and.year was
the Goods and Services Tax (GST)
implemented in India with the concept of
‘One Nation, One Tax, One Market’ ?

(A) From lst April, 2016

* (B) From 1st April, 2017

141.

(B)

(C) From 30th June, 2017
(D) From Ist July, 2017

From the following which is included in

- Gross Total Income ?

(A) Aggregate of income under five
heads of income

Aggregate of income under five
heads of income + Adjustments of
set off and carry forward of losses

Aggregate of income under five
heads of income + Adjustments of
set off and carry forward of losses
+ Clubbing of income

©

Aggregate of income under five
heads of income + Adjustments of
set off and carry forward of losses
+ Clubbing of income ~ Allowed

(D)

deduction

P.T.O.
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£

ﬁa@aﬁuﬁ%m&nwm@
 fifE, e § S SHeEE ¥ U
H afdila 9 W9 o9 * gy eRit

(A) FHuRY et &k arqeme fam

H
(B) TuRY fert ok sfErt @
(C) MRy e SR fErt =
(D) waw sfErdt =

FG HY YR 80 @ IRl et
g ofe W W ® R 100% ek
3 amg § 2

(A) TR @ W Wi

(B) TUFHA TS Ted HIY

(C) W’ o e® Hfd =W

(D) 39w @it

I ¥ A 4,00,000 TR, T & Fam
3 WF TEH i ¥ e 50,000
T, ol & fea @ SefwR $oim
W 40,000 v B, @ w-Fuie of
2023-24 ¥F WHA A NG o0
(A) 3,10,000 T

(B) 4,00,000 T94

(C) 3,60,000 T9F

D) 3,50,000 T
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142.

143.

144,

On the basis of residential status income
eamed and received in Nepal, business
operated in Nepal, contolled from India
is taxable :

(A) To an ordinary resident and not
ordinarily resident

To an ordinary resident and
non-resident

(B)

To a not ordinarily resident and
non-resident

©

Only to non-resident

D)

Which fund is eligible for 100%
deduction under Section 80G without
restruction of qualifying amount ?

(A) Prime Minister’s Drought Relief
Fund

(B) Prime Minister’s National Relief
Fund

(C) Jawaharlal Nehru Memorial Fund
(D) All of the above

Income from salary Rs. 4,00,000, Loss
from house used for self residence
Rs. 50,000, Long-term capital loss on
sale of shares Rs. 40,000, then gross total
income for A.Y. 2023-24 will be :

(A) Rs. 3,10,000
(B) Rs. 4,00,000
(C) Rs. 3,60,000
(D) Rs. 3,50,000



)

145.

" (B) 6,00,000%. T 4,00,000 %.

. (D) 4,50,000 % =@ 5,50,000 %.

146.

(A) 89

147.

O @k @

& |

‘A F 4,00,000 T, AU TH A

S QW™ 1,50,000 TR R, @ A &

e FE A WY 9 W ¥ a9

(A) R =7

o W H/A A 4,50,000 T, T F

fom =t |@ @ wENM: WM :

(A) 598,500 T.* 941 4,00,000 %.-

(©) 4,50,000 % T 5,48,500 <.

SR Afufrm = 59 9wwm & swala

%@Wmmﬁﬁ%?

Y

(B) 89A

() 9 (D) 92
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(C)mﬁq‘m
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145.

146.

147.

Mother’s total income Rs. 4,50,000,
Father’s totol income Rs. 4,00,000,
Minor son’s income from interest
Rs. 1,50,000; then total income of

Mother and Father respectively will be :
(A) Rs. 5,98,500 and Rs. 4,00,000
(B) Rs. 6,00,000 and Rs. 4,00,000
(©) Rs. 4,50,000 and Rs. 5,48,500

(D) Rs. 4,50,000 and Rs. 5,50,000

Under which Section of Income Tax Act,

India has entered into bilateral
agreements with many - countries for

avoidance of double taxation ?

(B) 89A

@) 92

(A) 89

(C) 9

Which of the following is a punishable

offence ? |
(A) Tax avoidance !
(B) Tax evasion

(C) Tax planning

(D) Both (A) and (B)

P.T.O.
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‘ 148, TF WRR FEE Y 7,000 TR @

149,

F T ST | IFW WH R SRE
wt el e

(A) 2,100 %. (B) 700 %

(C) 1,400 3. ®) 3=

T A wEa & fadE 94 2023-24
# A R AR ® OSER 9 FW
IFH 96,200 T ¥, A AW EH
F1 9r fHvd w1 W wEe: W O

(A) 24,050 wT@ + 28,860 T +
28.860 TH + 14,430 T

(B) 14,430 Tw@ + 28,860 ¥T@@ +
28.860 T9& + 24,050 T

(C) 24,050 TT@ + 24,050 *9F + |

24,050 T + 24,050 T
@) svdw ¥ ] i T

150. g} foeolt & gm $-wwfen o
F B B U HiE qed
e afrardd: B Y ?

A) B 15

(B) 26 AS

(C) w16

(D) ST ¥ ¥ FR &
(5)S/3/2024/A

32

148.

149,

150.

An individual assessee won lottery prize
worth Rs. 7,000, Deduction of income

tax at source will be :

(A) Rs. 2,100  (B) Rs. 700

(C) Rs. 1,400 (D) Zero

According to old tax regime, total tax
payable of an individual assessee during
financial year 2023-24 is Rs. 96,200,
then amount of four instalments of
advance tax are respectively :

(A) Rs. 24,050 + Rs. 28,860 +
Rs. 28,860 + Rs. 14,430

Rs. 14,430 + Rs. 28,860 +
Rs, 28,860 + Rs. 24,050

(B)

Rs. 24,050 + Rs. 24,050 +
Rs. 24,050 + Rs. 24,050

©

None of the above

(D)

Which is the most necessary document
for easy e-Filing of income tax return for

a salaried taxpayer ?
(A) Form 15

(B) 26 AS

(C) Form 16

(D) None of the above
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